< 00, > (M)

<op/p. > (70)

Ratio

<o > (rad)
o
=
(6)]

o
[N

o
i

.................................................

o i
107 1

2 3
TP1|c9T (PCA t%obeamliné[f)

< dcotl>)

o
[N

g
[
o

o
s
I

0.05]

.................................................

................................................

0

107 1

2 3
TP1|c9T (PCA t%obeamliné[f)

—s=— DQM_V0001_R000000001__Global__|
—— DQM_V0001_R000000001__Global__f

mkFitbase_ RECO
CMSSW_X_Y_Z_ RECO

100r

A OO @
o O O

20

[essoossongdoce

...............................

..............................

_1 2
10 1 Tplé) (PCA t%obeamllnéf)

...............................

6-0 090004160 0:0-0 1 9:00 00-60 0-6-0 09:0-01090-0 0 0-5-0  o-9|

107 1

I : 2 3
TPlpg)T (PCA t%)obeamlinel)O

<ouz>(umw

|

N

o
I

o

I

N

o
I

[oo-0-000-00000700000-000e000e009000e0000000-0

0t 1 10

2 3
TPp, (PCA t%obeamliné'f)



	Contents
	Page 1


